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Part A

Answer all 20 questions in this part. Write your answers on the lines provided in
PART A on the separate answer sheet. Use only a black lead pencil on the answer sheet.

1 Add: 1,421 8 The graph below shows the amounts of
3 snowfall for the months of December,
+ 673 January, February, and March. How

many more inches of snow fell in
February than in December?

2 Write the numeral for twenty-three 14 SNOWFALL
thousand forty-three. 12
3
210
28
3 Bus tokens cost $1.25. Hannah has 8 6
$4.00. What is the greatest number of 2
tokens she can buy? 2 4+
2 ]
0
4 Subtract 297 from 6006.
5 Multiply: 406 9 What is the median of these numbers?
x 27 25, 18, 32, 21, 29
6 At one tennis match, there were
20,300 spectators. At the next match,
there were 2,100 more people in 10 On five math tests, Jada received
attendance than at the first match. grades of 87, 75, 82, 91, and 80. What
How many people attended the second is the mean (average) of her grades?
match?
7 Divide:  8)856 11 If y = 3 and x = 2, what is the value

of y + 2x7
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12 Reduce % to lowest terms. 16 What is the sum of + 24 and -74?

13 What is the least common denominator
of L 1 snqle 17 Round 56.887 to the nearest tenth.

14 Add: 27.3 + 55 + 1.25 18 In triangle ABC, angle A measures 55°

and angle B measures 98°. How many
degrees are in the measure of angle C?

15 What is the total number of square
centimeters in the area of the triangle
shown below?

19 Solve for x:  3(x + 3) = 27

10 cm
8cm

20 What is % of 40?
6 cm
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Part B

Answer all 40 questions in this part. Mark your answers in the rows of answer
circles provided in PART B on the separate answer sheet. Use only a black lead pencil

on the answer sheet.

21 Each’g‘ represents 1,000 people. If
Mathville has a population of 5,500
people, which pictograph correctly
represents Mathville’s population?

NI
BT
NIt
NITT

{

23 Over the next 12 years, Miguel’s
parents need to save $6,600 for part of
his college tuition. How much must
they save each year in order to reach
that goal?

(1) $550
(2) $660

(3) $6,588
(4) $79,200

22 What is the perimeter of the trapezoid

below?
7cm

3 Cmf \Cm
10cm

(1) 13 cm (3) 30 cm

(2) 24 cm (4) 40 cm

24 Mr. Chang had $243.15 in his checking
account. After he wrote a check for
$29.50, how much money was left in
his account?

(1) $186.35
2) $213.35

(3) $213.65
(4) $272.65

25 A box contains 2 oranges, 4 apples, and
6 peaches. If a student picks one piece
of fruit at random from the box, what is
the probability that she will choose an
apple?

1) + (3) 75
@ & 4) =

RCT-Math.-Jan. *94




26 Which number is equal to 2° ?

31 The fraction % is equivalent to

(1) 0.43
(2) 3.4

(3) 0.34
(4) 0.75

27 Which digit is in the hundredths place
in the number 9.0248?

(
(2) 2 (4) 4

28 Solve for «x: 12 _ %

(1) 18 (3)
2) 20 (4) 24

32 A plane left New York at 8:45 a.m.

and arrived in Miami 2 hours and
25 minutes later. At what time did the
plane arrive in Miami?

(1) 11:10 a.m.
(2) 11:15 a.m.

(3) 11:25 a.m.
(4) 11:45 a.m.

29 What is the remainder when 408 is
divided by 7?

(1)1
2) 2

30 Cheryl bought an electric guitar for
$460. She made an $85 downpayment
and agreed to make monthly payments
of $75 each. How many months will it
take her to pay for the guitar?

3)3
2) 2 (4) 4

33 The chart below shows the percentage
of the U.S. recommended daily
allowance (RDA) for different nutrients
in one serving of cereal.

PERCENTAGE OF U.S.
RDA IN ONE SERVING
Protein 4%
Vitamin A 20%
Vitamin C 0%
Iron 10%
Vitamin B 25%

What is the smallest number of
servings needed to provide 100% of
the RDA for vitamin A?

1) 25 (3) 5
(2) 20 (4) 4

RCT-Math.-Jan. *94

[OVER]




34 Which integer has the greatest value?

35 If 18 out of 20 questions were
answered correctly on a test, what
percentage of the questions were
answered correctly?

(1) 18%
(2) 2%

(3) 72%
(4) 90%

37 The rates for a long-distance telephone
call are listed below.

$2.00 for the first 3 minutes
$0.40 for each additional minute

What is the cost of a long-distance call
that lasts 6 minutes?

(1) $2.40
(2) $3.20

(3) $7.20
(4) $10.40

36 The line graph below shows the
temperature at various times during
the day.

TEMPERATURE AT VARIOUS
250 TIMES DURING THE DAY
70°
9 65° \\
=)
& 60° %
g s5° L)
8 50°
45°
40°

6:00 9:00 Noon 3:00 6:00 9:00 Mid-
am. am. p.m. p.m. p.m. night

Time

How many degrees did the
temperature rise from 6:00 a.m. to

3:00 p.m.?
(1) 10° (3) 3°
(2) 35° (4) 25°

In the circle below, the length of the
radius is 8 centimeters.

What is the length of the diameter?

(1) 4 em
(2) 16 cm

(3) 32 cm
(4) 64 cm

Which group of numbers below shows
all the factors of 45?

, 15, 45
5, 60, 75, 90

What is the total cost of a shirt with a
price of $20.00 plus 8% sales tax?

(1) $0.16
(2) $1.60

(3) $20.60
(4) $21.60
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41 On the graph below, which point has
the coordinates (2,-3)?

A
5
4
+ A
2 Bl
1
< 0 > X
-5 -4 -3-2 - 1 §4fj
o T
3—C
-4
_5 —
(1) A (3)C
2) B (4) D

42 Malcolm bought two bags of potato
chips that cost 59¢ each. How much

change should he receive from a

$10 bill?
(1) $11.18 (3) $8.82
(2) $9.41 (4) $1.18

44 The circle graph below shows how a
teenager spent $20 one week.

EXPENSES

20%
MOVIES

40%
SCHOOL
LUNCHES

CLOTHES

How much did the teenager spend on
school lunches?

(1) $8.00
(2) $2.00

(3) $5.00
(4) $4.00

45 Which number has the same value

175
as 12
12 5
(1) 17 (3) 1217
5 3
@) 515 QAT

43 Bob’s employer pays him 15%
commission on each computer he sells.
If the price of the computer is $1950,
how much commission will Bob receive

for each computer sold?

(1) $2242.50
(2) $292.50

(3) $29.25
(4) $15.00

46 Which decimal has the greatest value?

(1) 0.25
(2) 0.025

(3) 0.225
(4) 0.02525
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47

What is 20% of 70?

(1) 0.14
(2) 14

(3) 140
(4) 1400

48

Eight cans of apple juice cost $2.38.
What is the cost, rounded to the
nearest cent, of one can of apple juice?

51

Which equation represents the

statement “2 more than a number
is 1677

@) r-2=16

(4)r+2=16

52

The ratio of a model train to an actual
train is 1 to 87. How long is an actual
passenger car if the length of the
model] car is 0.18 meter?

(1) 1.566 m
(2) 15.66 m

(3) 156.6 m
(4) 1566 m

(1) $0.28 (3) $0.30
2) $0.29 (4) $0.31
49 Subtract: 29%
i
_ 8
(1) 228 (3) 352
) 23% (4) 362
50 The rectangle shown below represents

a cornfield.

30 m
50 m
What is the area of the field?
(1) 80 m (3) 1,500 m?
(2) 160 m (4) 2,250,000 m®

53

Which is the closest approximation of

V85?7

54

An advertisement reads: “Take 10% off
the original price of all coats.” If the
original price of a coat was $135.60,
what is the sale price?

(1) $13.56
(2) $121.96

(3) $122.04
(4) $149.16
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55 What is the sum of % and —,27—? 58 If the probability of team A defeating
team B is -g— then what is the proba-

bility of team A not defeating team B?

S 11

(1) 12 ) 35
6 31 1 4
@ L () 3L m L OF
2 3
@ 2 @ 3

56 What is the ci fi f a circl
wit}? alfijan(i ectl;: l(l)?ll%rpe pee of a arcle 59 What percentage of the circle below is
' shaded?

10
(1) 57 (3) 257
(2) 107 (4) 1007
1) 5% (3) 50%
(2) 40% (4) 4%

60 Which inequality is represented by the

graph below?
57 How many kilometers are equal to

15,000 meters?

(1) 15 (3) 150 6 -5-4-3-2-101 23456
(2) 15 (4) 1,500
1)-2<x<5 B3)-2<x<5
@ -2<x<5 4)-2<x<5
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